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z 0|1 |2[3]4]| L
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(5) / t3dt:%t4+0
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(1) a(t) = St* + 5t + 4

(2) x(t) =22 +3t+1
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(1) OO0 v(t) =—9.8t+8

00 z(t) = —4.9t + 8t + 10

(2) OO v(t)=8t—2
00 z(t) =4t> — 2t +5
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(2) a=4, T=5, v(t)=4, xz(t)=2t

(3) T=5, a=-4, vt)=—-4t+30, =x(t)=—2t>+30t
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(1) )7(0)) — VT =5

(2) tanf=-=133 |, 0 = 53°
(3) «"(t)=0 ,  y'(t)=-10
@) 2'(t)=3 ,  y(t)=—10t+4
(5) z(t)=3t , y(t) = —5t% + 4t
_ 52 4
(6) y= % +3x
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_l ________
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(1) vy =5cos ,  vy=>5sinf

2) 2"(t)=0 ,  y'(t)=-98

(3) #/(t)=5cos® ,  y/(t)=—9.8t+5sind

(4) z(t) = (5cosb)t y(t) = —4.9t* + (5sin )t
5sin §
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F = 100(g) X T(m/s2) = 700 1cgm/s2)

02000

F = 1O(g) X 100(111/52) = 1000(gm/52) = 1(kgm/52) =1N

03000

200
a= B _ 2Wogmss) _ 20 (m/s?)
m 10(kg)
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(1) 'Ul(t) = (Ilt s ’Ug(t) = (Igt
1 2 1 2
(2) l'l(t) = *(Ilt s l'g(t) = *(Igt
2 2
(3) 1(T) = 22(T) O O
‘121 = %T2 2 =
F F:
1) L=qg , 2 —q
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(1) F=ma
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01000

(1)

v(t) = at (m/s)

1
z(4) = = x 9.79 x 4> = 78.32 (m)

F =9.79m (kgm/s?)

02000

F; =9.79m (kgm/s?)

F, =9.79m (kgm/s?)
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60 x 9.8 = 588 (N)
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10 x 9.8 = 98 (kgm/s?)

02000
mg 0000

F=mg=1(N) = m=

Lkgm/s2)

Likgm/s2) 1000

(0)0 102 g

9 98wy 98

=102y
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F1 = 500(g) X 9.8(m/s2) = 0.5(1g) X 9.8(um/s2)
= 4-9(kgm/sz)
= 4.9
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Fi=F=F=5N
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T=F=10g(N) =98 (kgm/s?)
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1 2
azz(m/s)

T, =17 (N)
T, =3 (N)
Ty =1 (N)
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1
(2) F=ma OO 5=50a; = alzl—o(m/s2)

2
(8) 2_0+Z:12 = t=2v/1000

9) t=2/10000  (t) = (2\;1)_0)2 =2 (m)
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a:£2098(m/s2)
10
02000
my
a =
m1 + ma
T =mea = T ms
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T, 0000 =mgsing (N)
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T =2mgsinf =mg = 2sinf=1

=

sinf =

= 0=30°
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(1) F=

(2) F=

(3) w(®)
(4) =()

(5) =()

© of

mgsing (N)
ma =mgsinf = a=gsinfd (m/s?)

= (gsin®)t (m/s)

_ gsin 9152

042 (m)
gsinf , 20
= =10 = t=
2 gsinf (s)

20

. / 20 .
gsin@) = (gsin6) Tl v20gsiné (m/s)
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(1) a= —ZO = —2.5 (m/s?)

02000

m 0000 mg=>5N = 5000 gm/s?

5000
=2 5102
m=93

(0)0 510 (0O0)

03000

a=04 (m/s?
T,=16 (N) , T,=6(N) , Ty=2(N)

04000
(1) 10 kg
(2) 20gsin30°=20a = a= %g = 4.9 (m/s?)

(3) 9.8 (m/s)
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